[1] PARTS NAME

IF YOUR DOOR 1S NARROWER THA

N 38"
REMOVE END COVER AND CUT BODY
SECTION' END COVER
HEAD COVER

LATCHBOLT PUSH RAIL

1/4"-20P x 3/4" (3 PCS)
FLAT HEAD

(D

1/4°-20P x 3/4"(6 PCS)
ROUND HEAD
END COVER MOUNTING THRU BOLT (6 PCS) MACHIE =08
BRACKET
STRIKE SHIM ROLLER STRIKE
2] OPTIONAL PARTS ovuNoER
LINER
Double Door Strike
( Not Included-Must
@ be ordered separately)

{ for use on Rim x Vertical
Rod applications)

TYPE OF INSTALLATION

DOUBLE DOOR WITHOUT MULLION SINGLE DOOR DOUBLE DOOR YWITH MULLION

I‘ DOOR ﬂ—li DOOR
, a J:-I ]} o
|

R

27ne" 27he"

THRIM
[ ooor | DO0R

EUigicc

i DOUBLE DOOR STRIKE
258




(4] DRILL HOLES

1.USE TEMPLATE ENCLOSED TO
MARK DOOR FACE AND DRILL
HOLES WITH THE DIAMETERS
SHOWN.

2'B"LENGTH SHOULD BE MEASURED
FROM THE CENTER OF CYLINDER
HOLEO THE END OF THE BODY.

Drill 9/32" holes inside and 3/8" holes
outside for the (6) thru bolts and drill

& tap for (3) 1/4"x20 machine screws for the

Roller Strike.

FOLD HERE FROM JAMB

(OUTSIDE)
‘Q_" . .
E i ' 2 /m“
1 2 /' ‘I?«:m-' le)7
\z‘ma' _/< * +
'\\ k L ww
1-1/4" HOLE MUST BE DRILLED)
(INSIDE) Lol

INSIDE FACE OFTHE DORR

NOT TO SCALE

inside face of the door

[5] INSTALL CYLINDE

1.PLACE THE CYLINDER

INTO THE HOLE ON THE DOOR,
2.KEEP THE TAILPIECE HORIZONTAL
3.TIGHTEN THE SCREWS

9/32"~15/32"

(i

TAILPIECE PROJECTION

R (IF REQUIRED)

OUTSIDE FACE OF THE DOOR

\)

CYLINDER

LINER

INSTALL SCREW
(3M16°-24X1°)

INSTALL BODY

1.REMOVE THE HEAD COVER AND
END COVER,

2. ALIGN THE SCREW HOLES ON THE
BODY WITH THE HOLES ON THE &)
DOOR.

3.INSERT SCREW BOLT (6PCS)3/8"
FROM OUTSIDE OF THE DOOR
THEM TIGHTEN THE 1/4° ROUND
HEAD SCREW (6PCS)FROM INSIDE
OFTHE DOOR ON THE BODY AND
THE MOUNTING PLATE OF END
COVER.

&y

1/4” ROUND
HEAD SCREW X6

|~




1.PUT ON THE HEAD COVER
AND END COVER.

2.TIGHTEN THE SCREWS
SECURELY ON THE HEAD
COVER AND THE END
COVER.

INSTALL ROLLER STRIKE

JMARK THE CENTER OF THE 2 ADJUSTABLE SLOTTED HOLES AND DRILL
7132° PILOT HOLES. TAP PILOT HOLES WITH 1/4"-20 THREADS AND
INSTALL MACHINE SCREWS. OF INSTALL SELF TAPPING MACHINE

1WITH THE DOOR IM THE CLOSED POSITION MARK SCREWS DR WOOD SCREWS IN PILOT HOLES.CLOSE DOOR TO CHECK

THE CENTERLINE GF LATCHBOLT ON DOOR JAMB,

2 PLACE ROLLER STRIKE ONM DOOR JAME EELE\TSCSP:(B;LT EXTENDS PROPERLY, ADJUST ROLLER STRIKE IF
ALIGN CENTER OF ROLLER 5TRIKE WATH THE .E f
LATGHBOLT CENTERLINE MARK ON THE JAMB. A WITH ROLLER STRIKE IN FINAL POSITION, DRILL A 7/32° PILOT HOLE FOR
THEN ALIGH THE QUTSIDE EDGE OF THE THE CENTER MOUNTING HOLE. TAP PILOT HOLE WITH 1/4"-20 THREADS
ROLLER STRIKE WITH THE OUTSIDE EDGE OF AND INSTALL MACHINE SCREW,
THE DOOR JAMB OR INSTALL SELF TAPPING MAGCHINE SCREW OR WOOD SCREW IN
PILOT HOLE
ELLJ — b ]
[l 3. DRILL 7/32° 4. 114°-20P
i HOLE, TAP 14°-20P FLAT HEAD
THREAD SCREW
1. JAME

2. ADJUSTABLE 5LOT

NOTE INSTALL STRIKE SHIM UNLESS THE EXIT DEVICE HEAD COVER RUBS THE ROLLER STRIKE
THEN REMOVE THE STRIKE SHIM T0O GAN ADDITIONAL CLEARANCE.

9] OPERATION TEST

PRESS DOWN THE PUSH RAIL
OFEM AND CLOSE DOOR A FEW
TIMES AFTER INSTALLATION
COMPLETED




TEMPLATE FOR

Drill 1 104" far rim cylinder

1t without key cylinder installation
o not drill this hole IF other trim
reguired hole must ba drilled
according 1o the desired tim
template provided,

i 1Y%

DOOR JAMB

27M18"

(A) For RDCSR10 (UL Listed)-Drill & tap for (8) 1/4"x20 machine screws for exit device and drill & tap for (3) 1/4"x20 machine screws

for Roller Strike

ROLLER ]

STRIKE

CENTER LINE

FOLD HERE FROM JAMB
|

&
9/32"
27/32"
421/64"

3 25/32° <—|— /< 25/32"

HOLE MUST BE DRILLED
ACCORDING TO TRIM
TEMPLATE.

FOR MOUNTING
END COVER

¥

AN BNA/—

NOT 7O SCALE
inside face of the door

40" ABOVE FLOOR

(B) For RDASROO (Fire Rated)-Drill 9/32" holes inside and 3/8" holes outside for the (6) thru balts and drill & tap for (3) 1/4"x20 machine

screws for Roller Strike




